o
I

M7 £

X

THM7EE I CTHFZERAL-ALZRRZEEDSEILRAFRT

ST B R

5 B BLEEXE
MEREEXE
BEEXE

= B BEREE
BERERNREGRERE

B oMa2 RERHE

BEEES  18-01-25-015



SHEERNRE SH7TEEICTE#FALLELHEREED S E LRI ER

£ g g - KR Bify H = B * H =
EER{E 7,661, 288
BHEE3 7,661, 288
EER{E 7,661, 288
EEAGE 7, 500, 850
FHEEEfE 448,100
1-1 EHEElE 1.00 448,100 448,100
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M+ =% 5t
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=
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=
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=
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1-b SHEDODEEDEYELH 1.00 1,173,100 1,173,100
=
EE R 457, 000
1-6 ERTHHE 1.00 126, 500 126, 500
=
1-7 hffsRes 1.00 126, 500 126, 500
=
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=
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% g R - KSR Bifr B 2 B i & B W =
E R 7,500,850 + 160, 438 7,661,288
BEEAGE 7,500, 850
BE#RE 160, 438
T DR 7,500,850 x 53.85% ( 35% + (1 — 35%) ) 4,039, 207
BRI 7,661,288 + 4,039, 207 11,700, 495
—REERF 11,700,495 x 53.85% ( 35% + (1 — 35%) ) — 1,211 6, 299, 505
KBS 11,700,495 + 6,299, 505 18,000, 000
EENEE 5,519, 056
HEHE 5,519,056 x 78.3% — 476 4,320,944
MEFER 5,519,056 + 4,320, 944 9, 840, 000
BB E TS 9, 840, 000
B EHEAE 18,000, 000 + 9, 840, 000 217, 840, 000
HETR SR L 27,840,000 x 10.00% 2,784,000
FEIZRE 30, 624, 000
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2 b g - BIRTE By = B ® # " =
HEnE
A 1.00 71, 500. 00 717, 500
FEHRAR (F%ET)
A 1.50 66, 900. 00 100, 350
AR (A)
A 2.50 59, 600. 00 149, 000
HEm (B)
A 2.50 48, 500. 00 121, 250
& Hi 1YE%HeH - 1.00K 448, 100. 00 448,100
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A 6. 00 66, 900. 00 401, 400
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A 2.00 66, 900. 00 133, 800
AR (A)
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HEm (B)
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A 6. 00 59, 600. 00 357, 600
AR (C)
A 9.50 40, 300. 00 382, 850
g
A 12.00 36, 100. 00 433, 200
& B 1YE%HeH - 1.00K 1, 374, 350. 00 1,374, 350
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2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 2.00 66, 900. 00 133, 800
AR (A)
A 2.00 59, 600. 00 119, 200
e (B)
A 9.00 48, 500. 00 436, 500
AR (C)
A 12.00 40, 300. 00 483, 600
& Hi 1E%HeH - 1.00K 1,173, 100. 00 1,173, 100
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FEHRAR (F%ET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
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2 b g - BIRTE By = B O ® # " =
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A 1.00 71, 500. 00 717, 500
F{EHRAR (F%ET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& Hi 1YEZHEH - 1.00[E 204, 000. 00 204, 000
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£ ERTERBEEER ®x (1K)
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.50 66, 900. 00 100, 350
AR (A)
A 2.50 59, 600. 00 149, 000
e (B)
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A 2.50 40, 300. 00 100, 750
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= 1.00 90, 000. 00 90, 000
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£ b By = il %8 " =
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
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Bl S H A
A 4.00 41,100. 00 164, 400
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RIS HRER
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Bl S H A
A 12.00 41,100. 00 493, 200
BIEWHEE
A 12.00 28, 700. 00 344, 400
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MR EE
= 1.00 3, 800, 000. 00 3, 800, 000
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